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Q.1) Answer the following as directed.

A) Do you agree or disagree with the following statements. , (04)

L) Carriage Inward is a selling and distribution overhead

2) Gain Ratio means new ratio minus old ratio

3) All receipts of Not for Profit concern are of revenue nature.

4) Credit balance of revaluation account is toss on revaluation.

B) Answer in one sentence only. (04)

1) What is Legacy?

2) Who is insolvent person?

.3)What is Reconstitution of partnership?

a)Why is new partner admitted?

C) Select the most appropriate answer from the alternatives given below and complete
' 

l&l'
t ' ,

Account is

to Profit & Loss

i 4)When goodwill is withdrawn by the of partner

a) Revaluation b) Cash/Bank c) Current d) Profit & loss Adjustment

the sentence.

1)To find out the net profit or net loss of the business
prepared.

a)Trading b) Capital c) Current d) Profit & Loss

2) Decrease in value of assets should be
Adjustment Account.

a)debited b) credited c) added d) none of the above

3) | fasset is takenoverbythepa, r tne, -account isdeb i ted.

a)Revaluation b) Capital c)Asset d) Balance sheet

account is credited.
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(04)D) Suggest one word/term/phrase for the following

1) Method under which calculation of goodwill is done on thq basis of extra profit earned

above the normal profit.

2)The method under which amount payable to the retiring partners is paid off at a time

fully.

3)An account which records only revenue items in case of Not for Profit Concern.

4) Process of entering the name of partnership firm in the register of Registrar.

Q.2)A and N are partners sharing profits and losses in equal ratio. From (Lzl

the following Trial Balance and adjustments you are required to prepare FinalAccounts.

Trial Balance as on 3Ls March,2O2O

Debit Balances Amount
(Rs.)

Credit Balances Amount
IRs:)

Purchases 48000 CapitalAcequnls
Salaries 7500 A 80000 ,

Wages 2800 N 40000

Advertisement
(2 years)

4000 Bank Overdraft 34000

Sales Return 8000 Sales 148000

Motor Van 63000 R.D.D 1200
Stock (1.4.20L9) 94500 Purchase Return 6000
Sundry debtors 62800
Coal,Gas, Fuel 1000
Plant &Machinery17600

309200 309200
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Dr.

Adjustments:

1) Closing stock is valued at cost price Rs.88,000 and market price Rs.90000.

2) A and N withdrew goods from business Rs.3000 and Rs.2000 respectively for their

personal use.
3) 3) Depreciate Motor Van by 5% and plant and Machinery by 7%

4) R.D.D on debtors @5% is to be created.

5) outstanding wages Rs.800. 

-rEcrLEu' 
'

e.3) Following is the Receipts and Payments Accounts of V. Rao Junior College,

Aurangabad for the year ended 31't March,2019: $21

Receipts & Payments Account for the year ended 31't March, 2Ot9
Cr.

t*
+ t *
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Receipts Amount
(Rs.)

Amount
(Rs.)

Payments Amount
(Rs.)

Amount
(Rs.)

To, Balance b/d
Cash LL750

By, Bank Overdraft t4250

To. Tution Fees By, Salaries to
teachers

120000

2017-r8 3500 By, Books (1.7.20t81 30000

2018-19 - 35000 38s00 By,Printing &
stationery

3500

To, Admission fees 8000 By,Office Rent 4500

To, Interest on
Bank Deposits

L2750 By, Sports ExPenses 750

To, Donation for
prize Fund

45000 By, Annual
Gathering exPenses

5000

To,Government
Grant

86500 By,Furniture
(1.1.201e)

20000

By, Balance c/d
Cash in hand 100

Cash at Bank 3400 3500

2,02,500 2,02,5OO.



Additional I nformation:

1) Tution fees are outstanding Rs.500o/- for the current yea6 .

2150% of Admission fees shoud be capitalized.

3) Outstanding salaries payable to teachers Rs. 6000/-

4)Depreciation on Book @1O% p.a. and Furniture @t5%p'a'
5) 50% of Gaovernment Grant should be capitalized'

eiRssets and Liablil it ies on t. .2}t|were as follows:

Building Rs.9,00,000; Furniture Rs. 3,50,000; Books Rs' 2,50,000

9% Bank Deposit Rs. 1,50,000; Tution Fees Receivable Rs.3,500 ;

Ban k Overd raft Rs. 14,250
7) Capital Fund Rs.16,51,000

prepare 1) lncome & Expenditure Account for the year ended 3Lst March,20ZO

2) Balance Sheet as on that date.

e.4) Follswing is the Balance Sheet of partners A and C on 3l-'t March, 2O!g,they share

profits and losses in the ratio of 3:2. (10)

Balance Sheet as on 31't March,2OL9

Liabilities Amount
(Rs.)

Assets Amount
(Rs.)

Creditors 50000 Building 30,000

CapilalASSqunts: Furniture 1800

A 42,OOO Machinery 42,040.

c 42,OOO Stock 24,600

Current Accounts:. Debtors 54,000

A 7500 Cash 6,000

c 5900
158400 158400
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Adjustments:

They admitted 'S' into partnership on 1$ April,2019 on the fqllowing terms:

1) Buifding to be valued at Rs.36,000, Machinery and Furniture to'be reduced by LOTI.

2l'S' shoutd pay Rs.6,000 as his share of goodwill. 50% of Goodwill withdrawn by
partners in cash.

3)A provision of 5% on debtors to be made for doubtful debts.

4) He shoutd bring Rs.18,000 as capital for L/4th share in future profits.

5) Stock is to be valued at of Rs.30,000

Prepare:

1) Profit & Loss Adjustment Account

2) Partners' Current Account

3) Balance Sheet of the new firm
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ECONOMTCS
TIME: thr 30 min
MARKS:50

a.1) A) Complete the following statements. (5 Marks)
1) Methods adopted in Micro-Economic analysis is ------_____

a) Lumping Method
b)Sl icing Method
c)Aggregative Method
d) Inclusive Method

2) When MU is falling, TU is -------.
a) Rising
b) Fal l ing
c) Not changing
d) Maximum

3)The relationship between income and demand for inferior
goods is ------.
a) Direct
b) Inverse
c) No effects
d) Can be direct and inverse

4) other factors remaining'constant, when less quantity is
supplied only due to a fall in price, it ---______.
a) Contraction of supply
b) Decrease in supply
c) Expansion of supply
d) Increase in supply

5) Price elasticity of dernand on a f inear demand curve at the y-
axis is equal to -----------
a| Tero
b) One
c) Infinity
d) Greater than one

a.1) B) Complete the correlation (  5 Marks )

l r

2) Demand curve: L -- - -- .l ,, Supply curve : Upwarcl
3) Straight l ine demand curve: Linear demandnd curve  : :

*  -J :  Non - l inear demand curve
4) Macro'Economic theory:  Ingg-me and employment theory

f-------* 
--- - -'

j: :  Micro-Economic theory '  I

5) Form uti l i ty: Furniture from wood
Service of lawyers.

t - l

I

5o

1) Perfect competit ion: Free entry and exit ::
Monopofy:



a'2)A) ldentify and exprain the concept from the given
illustrarion. (Any 2) ( 4 Marks )

fl seema purchased product in the region or area in which product is sord.

"11:1!1. 
seller sotd the tabfe for { 2000 per piece in this way he sold 15

,rn raDtes and earned t 30,000.
6J Asha collected the information about the income of a particurar firml{') A poor person wants to buy a car.J

a.2) B) Distinguish between. (Any 2) (4  Marks  )

1) Place utility and time utility
2) Micro-Economics and Macro_Economics
3) Monopoly and Oligopoly
4) Perfect elastic demand and rerativery erastic demand

Q.3)Answer the following (Any 2)
1) Write the types of demand.
2) Explain the scope of Macro_Economics.
3) Explain the features of utility.
4) Expiain the variation in supply.

Q.4) state with reason whether you agree or disagree with the
following statement. (Any 2) {g Marks )

{ fUi.ro-Economics uses lumping method.
2l Demand and desire both are same.

?j :,:,. 
of tech.nology is the only determinants of suppty.

h] rrrce maker is the features of perfect competition market.

Q.5) study the foilowing tabre, f igure, passage and answer the
question given below it. {Any 2) ( 8 Marks )Q-1) In the following diagram AE is the tinear'demrnJ .rru"
of a commodity on the basis of the given diagram state
whether tbllowing statements are True or Farse. (4 Marks)

PRLCL

{8  Marks  )
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!Oemand at a point'C'is relatively elastic demand.
2J Demand at point'B' is unitary elastic demand.

,FJ Oemand at point'D' is perfectly inelastic demand.'kJ 
Demand at point'A' is perfectly elastic demand.

Q-2) observe the given table and answer the questions

!ManyJ
1lr*pKs
L ptAR.ks
L u*t**

(4 Marks)

f Comptete the table. 2r{6Rt€
2J oraw Total utirity curve and Marginal utility curve. 2 /utft&l<_s

Q-3) Read the passage and answer the given betow. (4 Marks)
In common language the term market means specific place. where

buyers and sellers of a commodity meet and exchange their goods. But in
economics is not necessarily a place but it is an arrangement through which
buyers and sellers come in contact with each-others directly or indirectly

. and exchange of goods take place among them.
Market can be classified on the basis of place ,t ime and competit ion.

Mark^et on the basis of competition is perfect competition and imperfect
competit ion. There is a various imperfect competit ion market l ike
Monopoly, oligopoly, Duopory and Monoporistic competit ion.
1)Explain the concept of market from economics sense . (1Mark)
2) Write the classification of market. (1 Mark)
3) Write your own opinion about the passage. (2 Marks)

,"  9-6)Answer the fof lowing in detai l  (Any 1) (8 Marks)
u- state and explain the raw of suppry with its exception.

\Exoiain the meaning and definit ion of Macro-economic with lts features.

Units of Commodi Total Utility Marginal Uti l i ty
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SYJC TERMINAL EMMINATION: ENGLISH - 50 MARKS

al-(A) Read the folfowing passage and complete the given activities: , t2

This is what Camus meant when he said that "what gives value to travel is fear"- disruption, in

other words, (or emancipation) from circumstance, and al l  the habits behind which we hide. And

that is why many of us travel not in search of answers, but of better questions. l, like many people,

tend to ask questions of the places I visit ,  and rel ish most the ones that ask the most searching

questions back of me: "The ideal travel book," Christopher lsherwood once said, "should be

perhaps a l i t t le l ike a crime story in which you're in search of something." And it 's the best kind of

something, I would add, i f  i t 's one that you can never quite f ind'

I remember, in fact, after my first trips to Southeast Asia, more than a decade ago, how I

would come back to my apartment in New York, and l ie in my bed, kept up by something more

than jet lag, playing back, in my memory, over and over, al l  that I had experienced, and paging

wistfully though my photographs and reading and re-reading my diaries, as if to extract some

mystery from them. Anyone witnessing this strange scene would have drawn the right conclusion:

lwas in  love.
- When we go abroad is that we are objects of scrutiny as much as the people we scrutinize

and we are being consumed by the cultures we consume, as much on the road as when we are at

home. At the very least, we are objects of speculation (and even desire) who can seem as exotic to

the people around us as they do to us.

All ,  in that sense, believed in "being moved" as one of the points of taking tr ips, and "being

transported,, by private as well as public means; al l  saw that "ecstasy"("ex-stasis") tel ls us that our

highest moments come when we'ie not stationary, and that epiphany oan fol low movement as

much as it preciPitates it.

A1: Read the following statements and state whether they are true or false:

a. Abroad is where we are objects of scrutiny as much as the people we scrutinize.

b. A traveller may sink in love with his memoirs.

c. Travell ing helps freedom from all the habits behind which we hide.

d. Our highest moments come when we're not stationary'

A2: Match the following:

A column B column

Narrator ldealtraveJshould be l ike a crime story

Camus ln love with his memoir

lsherwood More happy when on move

Traveller
'Fear gives value to travel

A3: Complete the following:
This is what Camus meant when he said that 'what gives value.to travel is fear' . . . . , . . . ' . . . . . .

2



A4: Do you think'travelling is beneficialfor us'. Discuss it in reference to the extract.

A5: Do as directed:
l.Many of us travel_not in search of answers, but of better questions.
(Rewrite the sentence using present perfect tense)
2. Epiphany can follow movement as much as it precipitates it.
{Rewrite using rnodal auxiliary of permission}

A5: Find out the words from the passage which means the following.
1. Extreme happiness
2. Liberation, the act of setting free

Q1{B) - Do as directed:
1. Discourtesy is not a legal defence. (Rewrite as Affirmative sentences)
2. Reuben respectfully touched his worn cap and walked out into the May light.
(Rewrite as simple sentence)
3. Unless you are confident, you willnot succeed.
(Rewrite the sentence heginning with "1f...)
4. Spot the error and rewrite the correct sentence.
They was all veryexcited about the industr:ial visit.

qz-tA) Read the extract and completes the activities given below:

"She walks in beauty, like the night
Of cloudless climes and starry skies;
And all that's best of dark and bright

Meet in her aspect and her eyes;
Thus mellowed to that tender light

. Which heaven to gaudy day denies.

One shade the more, one ray the less,
Had half impaired the nameless grace

Which waves in every raven tress,
Or softly lightens o'er her face;

Where thoughts serenely sweet express,
How pure, how dear their dwelling-place.

And on that cheek, and o'er that brow,
So soft, so calm, yet eloquent,

The smiles that win, the tints that glow,
But tell of days in goodness spent,

A mind at peace with al l  below,
A heart whose love is innocent!"

4
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A1: Match the following and rewrite the correct answers:

Sr.no Column A Column B

t Her hair Soft, calm and eloquent

2 Her eves At peace with al l  below a heart

3 Her smi le Wavy and black

4 Her mind A perfect blend of light and
darkness

A2:'Beauty l ies in the eyes of the beholder'.  Discuss.

A3: Compose four l ines on 'Beauty of Nature'.

A4: Find out an example of Simile and Antithesis each from the poem.

A5: Write the rhyme scheme of the f irst stanza and the rhyming pair of words.

Q2 (B)-Read the extract and write the appreciation of the poem:

When I had money, money, O!
I knew no joy t i l l  I  went Poor;

for many a false man as a fr iend
Came knocking al l  daY at mY door.

Then felt I  l ike a chi ld that holds
A trumpet that he must not blow
Because a man is  dead;  ldared

Not speak to let this false world know.

Much have lthought of l i fe, and seen
How poor men's hearts are ever l ight;
And how their wives do hum l ike bees
About their work from morn t i l l  night.

So, when I hear these Poor ones laugh,
And see the rich ones coldlY frown
Poor men, think l ,  need not go uP

So much as r ich men should come down.

When I had money, moneY, O!

My many fr: iends proved al l  untrue;
But now I have no moneY, O!

My fr iends are real, though verY few

2
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Q3-Do as Directed-

A3 (A) Write the summary of the below mentioned extract:

we are often warned not to push anyone into a corner because that is when they fight their best

and most vicious batt les. A good hunter wil l  never force a wild animal in a situation from where no
escape; the animal must feelthere is st i l l  some escape route. Because it 's when the animal loses
hope of escape, that i t  wil l  f ight at i ts wildest and cause the worse harm.
A cornered creature, man or animal, is dangerous, even vicious. For, that is the point at which one
loses al l  fear. You become fearless when you lose that which you value the most. Because, when
that happens, the rest doesn't really seem to matter as much. And, you also realise the futility of
having l ived in fear of losing something that is now beyond reach.
You understand that you could possibly have been able to enjoy the f iner intr icacies of your object

of desire much more if you hadn't lived in constant fear of losing it. When you lose you see the

futility of all the anxiety, the heartburn over it.
You start looking for and f inding ways of l iving without i t .  And the human mind and spir i t ,

amazingly resilient as they are, discover reasons and conviction for why you are better off without
'that 

which is now lost. And that is the point at which you start enjoying the positive aspects of

fearlessness. For, when you fear nothing, nobody can manipulate you anymore. You would be
your own person and no1dependent on anyone for your happiness or peace of mind. Your best

bouts of courage are reserved for times when you have nothing to lose.

Q3-(B)Appeal: 4

Prepare an ?ppeal' on the topic "Traffic Rules for Safety Measures" with the help of the following
points:
* lgnoiance and lack of knowledge and information
* Purpose/Need of obeyance
*Avoid accidents/need of society
*Discipl ine

a3-(Cl Virtual Message:

lrhagine yourself as Ramesh. You are required to go to Pune to part icipate in the national leVel

Chess Competitio_n.and hence you won't be able to attend the class-test.Draft a virtual message

for your fr iend Sanket in about 50 words asking him to convey the reason of your absence to your

subject teacher.
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Q4- Complete the activities given below as per the instruction

(ilMatch the following:

Sr.no. Column A Column B

1 Novel Don Quixote

2 Newspaper and magazines New

3 Novella Spirit of Realism

4 European Novel A long narrative fiction

(ii)Choose the correct alternatives and rewrite the sentences: 2

a. The novel, that bears more than one level of meaning is cal led

( Rea listic/Allegorica l/H istorica | )

b. ........ novel is concerned with the protagonist's overall growth from childhood to adulthood.

{Bildungsroman/Utopian/Gothic)

c. ........ novel is a novel based on author's life.
( E pistolary/Psych ologica l/Autobiogra p hical)

d.The novel based on an imaginary community possessing the ideal quali t ies is cal led ... . . . .  Novel.

(Utopia n/Epistology/Pica resque)

Qs-Do as directed' 5

a. He must apologise for his misconduct. l t  is the only way to escape punishment.

(Rewrite combining the sentence using infinitive 'to')

b. She works in an exclusively male dominated domain.( Rewrite using the 'Gerund')

c. I will make the announcement as soon as I reach the office. (Rewrite using 'No sooner ....than)

d. Be diligent and you will succeed.(Rewritd by changing it to comptex sentence)

e. No other single issue is as crucial as education'

(Rewrite using superlative degree of comparison)

4
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Subject: French Syjc 50 marks TE R Mr p Au gxArv\ r N frTl- or]

Q1A. Choisissez la bonne r6ponse et r6crivez la phrase: {2 au choix) (2)

1. La rdsidenbe de L6onardo da Vinci

a. Chdteau d'Amboise

b. Chdteau du Clos Lucd

c. Ch6teau de Chenonceau

2. Le _ est le fromage du Jura.

a. camembert b. roquefort c. comt6

3. On laisse pour le serveur au restaurant

a. l'addition b. un pourboire c. du vin

B. R6pondez aux questions suivantes en phrases complEtes: (3 au choix) (5)

. 1. Quelles sont vos activitds sportives pr6f6r6s?

2. Quelles mesures prenez-vous pour 6conomiser l'eau?

(Donnez deux mesures)

3. Qu'est ce qu'un v6g6tarien ne mange pas?

4. Quel est le sommet le plus haut de L'Europe ?

Q2. Grammaire: (16 )

A. Compl6tez le paragraphe suivant avec les mots donn6s:(4)

(dans, cet, i, langues, padvre, ses, ce, en)

-dcrivain est n6 -une famille. ll a fait- dtudes -Paris. ll a 6crit un roman policier. On
a traduit_ roman _ plusieurs.

B. Remplacez les mots soulign6s par des pronoms convenables:(3 au choix) (3)

1. Je vais au cin6ma avec mes amies.

2. Voici les gaenants'du quiz

3. L'aime de Rahul parle bien le frangais.

4. Nous avons prix deux stvlos.

C. Mettez les verbes entre parenthEses au temps ou au mode indiqu6: (3 choixX3)

1. 'Nous (6tudier - i  l ' imparfait) beaucoup.

2. Tu (ne pas se lever- au pass6 compos6) en retard hier.

3. (Ne pas 6tre- lmp6ratif) en retard, mes enfantsl

?+:+'
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4. Demain les enfants (partir- au futur) pour Paris.

D.Faites comme indiqu6 (6 au choix) (6)

1. Le Mont Blanc'(haut)sommet de l 'Europe.

(Compl6tez la phrase suivante i la forme superlative)

2. Mettez au pluriel:

ll est jaloux.

3. Compl6tez avec un adverbe correspondant i l'adjectif donn6:

Nihar et Anil jouent _(calme) dans la cour.

4. _est bien quifinit bien (Compldtez avec: tout/tous/toute/toutes)

5. Tout le monde connait mon pdre (Mettez au n6gatif)

5. Ma tante habite -rez-de chauss6e (Compl6tez avec du, i la, au)

. 7 . -mettez-vo us votre a ssiette? (Com bie n/Qu a nd/OL)

Q 3 Vocabulaire:

A. Compl6tez les phrases avec un mot ou une expression juste (2 au choix) (2)

1._ est un vin plus important en France.

2. On laisse un _ au serveur dans un restaurant.

3. Le plan6taire est une menace grave.

B. Que'dit-on dans les situations suivantes? (2 au choix) (2)

1. Ahilya aime tout dans la vie. Elle dit:

2. La pharmacien donne des pastilles i la cliente: La cliente dit:

3. Ma mEre a des problEmes de sant6 e cause de la pollution: vous dites :-

Q4. Compr6hension (6)

Le frangais est la deuxidme langue la plus parl6e dans le monde, apris l'anglais. C'est parce qu'il y a

avait beaucoup de colonies frangaises.partout dans le monde. Aujourd'hui frangaise est une des

langues officielles des Nations Unies et de l'Union Europ6enne. La France participe activement i la

poli t ique de l 'Union de Europ6enne. Le frangais parl6 en Amdrique Latine, au Canada dans de

nombreux pays africains, dans quelques pays de l'Asie et bien sOr en Europe. En Inde, on parle le

frangais ir Pondichery i Chandannagar et i Mah6. Ce sont d'anciens territoires frangais en Inde. La

propagation et l'enseignement du frangais dans le monde montre la responsabilitd du Centre

Culturel de l'Ambassade de France dans le propre pays. lly a des universit6s et d'autres institutions

qui offrent des cours i leurs 6tudiants

A. R6pondez par des phrases compldtes: (2)

1. Quelle est la de-uxiEme langue la plus parl6e dans la mohdq?

^ lJ^



2. Pourquoi parle-t-on le frangais dans plusieurs pays du monde?

B. Dites vrai ou faux (2)

1. On parle le frangais au Canada.

2. La France ne pi.tlcipe pas i la politique de l'Union Europ6enne.

C. Relevez un adverbe du texte: (1)

D. Trouvez le contraire de ce mot du texte: (1)

avant

Q5 Ecrivez un blog (d'environ 80 motslsur le sujet suivant: (6)

Marc Gautier, un jeune frangais, 6crit un blog sur le sujet :

<La Terre est en danger: les d6fis et le mesure>

(la condition de la Terre, les problEmes, les solutions...etc)

OU

- Ecrivez un mel (d'environ 80 mots) sur le sujet suivant: (8)

M. Legrand (legrand 1955@orange.fr)envoie un courrieli son petit Andr6
(andr6legrand@hotmail.com) un gargon de dix ans, pour expliquer comment rester en bonne sant6.

(la discipline dans la vie quotidienne, les sports, les repas 6quilibr6s...etc)

Q6. A. Traduisez en anglais: (4)

A la maison de retraite, nous sommes vingt. Nous menons une vie paisible et heureuse. Le g6rant

de cette maison est un jeune homme de 35 ans. ll nous a expliqu6 comment utiliser les smartphones

et les a'ppareils 6lectroniques comme les laptops. Vous voyez, nous sommes aussi modernes que les
jeunes d'aujourd'hui. Le repas ici est sain. On se ldve quand on veut. On n'est jamais press6 dans la

vie. Le soir Am6lie et moi, nous nous promenons dans le jardin. Mais on se couche t6t.

B. Traduisez en frangais: (2 au choix) {a)

1. The weather is pleasant in spring.

2. One must not cut trees.

3. Do you like this beautiful scarf?

* * * * * * * * * i . *
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Subiect German Tobl Marks:50

1. Beantworte die folgenden Fragen in mindestens zwei Sitze t (nur 2f (41

a. Was kann man im Antiquariat kaufen? Wo kann man Geld wechseln?

b- Wo m6drtest du gern wohnen. in einer Stadt oder auf dem Land? Warum? .

c. Wann hast du Geburtstag? Wie feierst du ihn?

d. Dein Bruder hat Geburtstag. Was schenkst du ihm? Warum?

2. Ues tien fo[enden Text und bearbeite die Aufgaben. (10]

Danlel, 22, studiert Franzdsisch, Geschkhte und Germanistik. Er wohnt in elnem Bus auf

dem.Uni-Po*platzin Aachen.Wie ist dos Leben im Bus? Daniel eniihlt.

lch war ein Jahr als Student in Paris. Seit September bin ich wieder hier in Aacfien, aber

schon seit August sind keine WG Zimmer frei. lch habe auch kein Geld fi ir eine Wohnung.

Zum Gliick habe ich schon lange einen Camping-Bus, dort lebe ich jetzt. Die Kiiche ist klein,

ich scfrlafe und wohne in einem Zimmer, aber alles ist da. Es ist eine Mini-Wohnung und jetzt

mein Zuhause. Hier wohne ich seit 8 Monaten und finde es eigentlich ziemlich cool.

Aber nicht alles ist einfach, zum Beispiel die Post. lch habe keine Adresse. Eine Freundin

bekommt jetzt meine Post und ich hole sie dort ab. lm Winrer ist es manchmal ziernlich kalt,

dann schlafe idr bei einem Freund. lch gehe dann ftir uns einkaufen und kodre etwas.

Das Leben ist bil l ig, ich zahle keine Miete. Das ist superl Und meine Freunde besuchen mich

oft - mein 8us steht auf dem Uni Park-Platz. Leider kommen sie manchmai schon sehr fri lh

' und wollen bei mir einen Kaffee trinken. Sie bringen Brcitchen mit dann ist das schon okay.

Bis zurn Herbst bleibe ich hier und dann suche ich mir ein Zimmer. lch kenne jetzt viele

Leute, d'ann ist das nicht so schwer.

a. Beantwort€ die folgenden Fragen! (02)

i. Wo hat Daniel fniher studiert?

ii. Seit wann wohnt Daniel in einem Bus?

b. Schreibe richtig oder falsch, wenn falsch korrigiere die faischen Aussagen! (03)

i .  Danie l  wohnt  in  Aachen.

i i .  lm Winter  is t  es n icht  immer warm im Bus-

i i i .  Danie l  zahl t  Miete an e inem Freund.

iv. Daniel mochte sofort umziehen.

c. Wie steht das im Text? (02)

i .  Danie l  kann im Bus keine Br iefe bekommen.

i i .  Das Leben is t  n icht  teuer .

d. Suche aus dem Text ! {O3}

i. Gegenteile fi ir lvarm und schwer i i.Zwei Jahreszeiten i i i . Zwei Stddte
L



3. Wortsdratz:

a, Nenne Zwei I
(101

{o2}
i. Farben

ii- Feste

b. Ordne ru I

i. Gehst du of ins Kino? Nein, nur selten.

ii. Trinkst du gern Cola? Nein, ich mochte es lernen.
iii. Kannst du schwimmen? Ja, Englisdr, Marathi und Hindi.

. iv. Spridrst du scfion 3 Spradren? Ja, sehr gern.

c- Was passt nidrt ?

i. Englisch - Hindi _ ltalien _ Deutsch

ii. gnin, hell, schwaz, braun

iii. Arzt - Bilder - Fotograf _ Koch

iv. schcin - hrjbsch - windig _ elegant

d. Ergiinze den Text mit passenden w6rtem aus dern Kasten!

{Geschenke, feiern, SpaB, gehen, Feiertag}

{02}

(o2l

(021

Am 1. Januar haben wir einen . Wir -- das Neujahr. Viele
in die Disko und haben viel

e. WelchesVerb passt?

i .  Monika wil l eine Weltreise machen, deshalb _ sie das Geld

a. Mag b. spart c. gibt

" ii. Zur Geburtstagsparty will Emil seine Freunde _.
a.einladen b. auspacken c kaufen

iii. Was fiir einen Mantel du?

a. suchst b. gehorst c. besuchst

iv. Jetzt ._*_- wir mit der Diskussion

a.  hdngen. . .  ab b,  fangen . . .  an c.  fahren . . .  ab

4' schreibe eine Email an deinen Freundf deine Freundin iiber deine neue wohnung. ilur
8 bis 1o Sitze) 

t8)
Anhaltspunkte: GroBe, Lage, wie viele Zimmer, Mobel u.s,w.

ODIR

Schreibe einen Blog iiber dein College. (Nur 8 bis 1O Sitze.) (Al

Anhaltspunkte: Name, Lage, Freunde, Lehrer, verschiedene Fdcher. u.s.w.

{o2}



5. Grammatik:

a. Welches Verb passt ? {per{ektf (nur 2}

i. Peter _ mit seinem Vater tiber das Problem viel

(a- hat ----"diskutierr, b, ist ---- gediskutieren)

ii. Warum ihr so spit _?

(a. habt..... gekommt, b. seid ..... gekommen)

iii. Daniela ihre prtifung gut

(a. hat.... bestanden, b. ist .... gebestehen)

b. Erginze die richtigen Personalpronomen. (nur2|

i- Gehort Petra diesen Bleistift? - Nein, _ gehort_ nicht.

(a. er, ihr b. es. ihm )

ii. Kinder, ihr habt _viel geholfen. Wir danken _fiir eure Hilfe.

{a. mir, ihr b. uns, euch }

i i i .  Meera l iest gern. schenke immer Bricher.

(a.  lch,  ihr b. Sie, dir)

c. Ergdnze die richtigen Pripositionen und Artikel {nur 2} (021

i. Herr Braun fdhrt immer Zugzur Uni. ia. auf den b. mit dern)

i i .  Gehen Sie bitte _ StraBe (a. der gegen

ii i. Morgen gehe ich Museum. {a. im b. ins}

b. die, entlang)

d. Ergdnae die Adjektivendqnsen, (nur 2l t0el

i" lch schenke meinen alt_ GroBeltern die interessant _ Biicher"

(a.  en,  en b-  e,  e)
" 

i i . Helga wohnt mit ihrer b-est - Freundin in dem gro8- Haus.

(a.  en,  en b.  er ,  em)

ii i- Meine Eltern haben ein klein_ Auto, aber es fihrt sehr schnell_.

{a.  en,  en b.  es,  - }

e. Bilde Fragen ! (nur 1|

i. Moreen ruft Monika Herrn Graf an.

i i. Richard fl iegt morgen nach Deutschland.

C. Bilde sinnvolle Sdtze ! (nur 1)

(0u

(0u
i .  Oktoberfestl ein Volksfest/ sein/ aber/ ein Familienfest/ sein/ Geburtstag.

i i .  Antar /  d ie Apotheke /gehen / in  /wei l  / ,  /  Medikanrente /er  /kaufen /

mochten.

g. Ergdnze die Possessivartikel! {nur 1} (o2)

i .  Gina,  hast  du heute Abend Zei t  ?  - -  Nein,  da muss ich Vater  bei

{14}

{021

{02}

{

Gartenarbei t  hel fen.  {a.  meinem, seiner  b.  meinen,  se ine}



iL Frau Weber, kdnnen Sie mir _ Adresse geben? J+ hier ist

Adresse bitte. (a. lhre, meine b. deinen, thre)
I

h. Erginze | {Komparation} {nur 1}

i- Deine Kamera ist fastso

ii. Dick isst Fleisch (gern)

i. Ergf,nze die richtfe priteritumsform! (nur 1]

mein Handy- {modem}

(011

{0u
i. Wo_dugestern, wir -- mitdirsprechen-

{a. warst, wollten b. warest, wollen)

ii. Wir_ftirdie priifung lemen und _ nicht ins Kino gehen.

{a- mtissen, ktinnen b- mussten, konnten}

6. Wi,e sagt man das auf Deutsch? (nur 2l :

i. Rarn was in bed the whole day because he had fever yesterday.

ii. Mona and Darpan are living at their uncle,s placc.

iii- My parents gifted me a smart phone for my birthday.

{04)

: j '

i.

v
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MARKS:25

TIME: 1.0 HRS.

{Marks:03}Q. 1.A) F|LL tN THE BIANKS.

L . must be done to increase concentration and mental health.

(Yoga, Swimming).

2 . - i s thecomponento fsk i | | re la tedphys ica | f i tness .

(Agil ity, Flexi bi l i ty).

3 . -b |ood is t ranspor ted f romhear t to the lungs .

(Oxygenated, Deoxygenated ).

_ B) Match the followings. (Marks:03)

,A, '8,

t. Cardiovascular endurance. a. Wrestl ing
2. Flexibil i ty b. Football
3. Muscular strength c. Yoga

C! True OR False. (Marks: 03|

1. Prolonged training can increase the depth of respiration.

2. While resting, the body needs additional energy.

3. Judo increases strength of muscle and bone.

Q 2. Write shcrt notes. (Any TWO) (Marks: 06)

L.  Explain the 'Exercise Session' .  ,
2. Write an lmportance of Warming up exercises. ,,,
3.  What is Frequencyof Training? 

//
Q. 3. Write any'TWO' .r, 

i 
(Marks: 10)

- 1. Write the lmportance of Physical Fitness.
i,

" 2. What are the effects of an exercise and training on various body systems?

3. Write in details Principals of Fitness.
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Q.1. Fill in the blanks:-

1. ln html is used to identify html element is uniquely

2. <meta> tag is essentialto boost SEO

3. Cost effective method of web hosting is
4. EDI Stands for -
5. The common tag used with <ol> and <ul> is

Q.2. True or false:-

1. Set-up cost of E-commerce is expensive.
2. Ewallet is a type of post paid account.
3. Google Analytics was developed by Google
4. Web server is the service of providing storage space.
5. <ol> tag defines ordered list.

Q.3. Multiple choice questions (one answer):-

0sM

05M

10M

I

3.

1. <meta charset="Big5"> is for language.

a. lndian b. Chinese c. Japanese d. America

2. MPEG Stands for

a. Moving pictures Experts Groups c. Motion picture Experts Graphics

b. Moving picture Exertion Graphpics d. Motion picture Exertion Groups

means having the keywords those wil l rank your site in search engine.

a. Keyword b. search engine c. SEO d. keyword consistency.

4. The tag is used to create a form.

a. <input> b. <text> c. <form> d' <html>

5.
a. website b. webpage c. webhost d' weblink

6. tags are displayed on search engine result pages'

a. <html> b. <head> c. <meta> d' <tit le>

7. A _ is a visual representation of your website and business.

a. Flash b. favicon c. Header d' Indexing

8. PKI Stands for
a. Public Key ldentif ication c. Public key ldentity

- ..b. P.ublic Key Infrastructure d. Public key Information

9. The _ type of EgoVernance is the internal Part of G2G Sector.

a.  G2E b. G2C c.  G2B d. G2G

10. Purchase order and invoices are using exchanged

a. Traditional commerce c. mobile marketing

b. EDI d. Trading Partners

- '

. ? +:
t -
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€
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Q.4.MCQ(2answer) : -

1. Pre-sales consists of and
a. Order b. del ivery c. Search d. negotiate

2. Example Of CzC model are
a. Network provider b. OLX C. EDI d. Quikr

3. SEO process involves are two ways to ranx website, they are

a. Pay and rank b. without payment c. keyword d. Sponsored
4. Tags used to define client side lmage map.

a. <img> b. <alt> c. <image> d. <map>
5. To create items in definit ion l ist _ and tags are used.

a. <dl> b. <dt> c. <dd> d. <dm>

10M

and

Q.5. MCQ (3 answer). 06M

1. fol lowing are the attr ibutes of <area> tag
a. href b. width c. alt  d. cords e. srcdoc

' 2. Google Analytics Reports contains the fol lowing:-
a. user b. Bounce rate c. Behaviour
d. Acquisit ion e. Session duration.

Q.6. Match the following:- 04M

Column A Column B

1. Long tai l a .  Scope is  Global

2. Ecommerce b. electronic password

3. Digital Certificate c. defines range contol

4. <input type="range"> d. long keywords

Q.7. Ans the following (any 5) :- 10M

7. Write a html program to create an ordered list of for 2 languages used for speaking and
unordered list having 3 computer languages.

2.  Explain lmagemap.
3. Explain types of SEO.
4. Explain phases of Trade cycle.
5. Explain types of E-Governance.
6. Explain CSS.
7. Explain m-commerce.
8. Define (i) Encryption

(ii) Decryption

t*
I,

-J
t

-
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.n* arie. s{FiEr€i Inrqdi, ETS iqFi{q-

3niqrri qrq aITd M is 3#iErri €{q
3{li. i{d's, 3{'fird qtl@iEt otFiq 9€Yc-dt

(cl

(?)
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ffi. edtq-ncl slrEqrir-da RFi erR.€ 31s?i. in

l.fre aTRETsl 3{Fis,. 3{Tcti rrfrra arnvl

Ws TSa sFr el*i 31TFr 3ifr-€Tqi

sri,iqrgt g*-di. s;ic@I qffi sra k +Ts-di,

aianq-mrqa.
3rFriq rq.|glii* 3fl'r@rfl lT|{ ?s"i" €id{

rcr€ tr rit{ qift c--{ si{r'ifts"rnl e-{}T{A' al

*Eerrw-r arEfi-cgis qrq'A'q-rfi. '*ary €i-d-i{
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qs"q-aiq*a ci&q-dl id,;fiig:fr qd"ii-sd't A.
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(3)Funr / slllarsfr (s)

rS*. eTsrgrdlT srrFII sffi ma rsd 'rr$t srt,Ert ra fuO'

fi*Er

sriil{ gsr frdFi FIFrir 6Tri drrr*,qr Fqrfirar ry 
c-affrr

${ wE 6{T.

(c)

(r)

(r)

gfr r. srdla saralraTr 3nqfi qa 
"aTsK 1d a,rr :

(l) Rrc{ rqr vret gqtffi d sB

(q)  . . . - - . . - - . . . - .

(0 .....-.-....-.

(i) fsfirqr q6rd r;ra?ilnrrqr ryra

(q ) . . . - . - . . . . - . . -

$. . . - - . . . , . . . . -

E-qtd 3rrft qm * fr 3rrg-ar
'+nc{icr. * trftserraar *-s+ g=;t lqra tEfta?d;fa
'arq fr-Ft;il' qrqr ftqn q;ta q-r€tql :i.trqt<

:*rr*, st Hi € Fs-dt Td-S errst 5n*a*r<=an

"t=i6, 
f,trisrqr raieiasq

'G6€1H 
6sr r{r€rara- qgfta{t - "smfa-{uriar

q"rrq-*ra- arrqr.rgr< fgte gq5{ertrirrd' ?€rz

E{r*.{ 6rq?' 3Td'fr-dl€ EIrRfi?r- €{ 6{ trara

?{iir fr"qrrd €{qA" *'4 *s el gqdisl :}etqan r'

q-fl?=t ft qr lssl Eqa:rr sng<#rtt e{riq

ar8riq-qa-€=i'fi iilrlt..qi*'{sq-eq-sraft rqq

q€rze{dtf, 3fl6lErrc na qr$. Ria-I qsi€ q-sg.g

nF-d, ff c-61?m€a xra-+a .116' qry d

.k- r<b-s qiss zrsa- Td* 6,6an' =ff

aqierr Erm 'itrqraffi'a orlai: q<l-e +vfi

*t, t tg" ql-(uqtcipi 3{*- qrEvqr=ilqrr& a{

iryi-quqriFi, s{r*. aer a{Affiqq€ erqisl'

dqseflr, TrgF,6{s
*-tl of we= =-at Eql*qrg Eqisr€ -t<<T

*Farq qur'*o- Fltt-d irr€-dr qpr+€' erceil

*rraaqrsrt<.- 
at err.(€rs q< a"r-qrgr&q -=qI' aTrr-?TI

" m d s s g i g r q r s f r ' f r d f f i ' n s i{irFrFr€rRI 3;3g;L aFliffit- aie.t ffi'qre

qFr4iEI ffi dE 4a er*ii; 'rrr 'qsasfl q6rz

B-6rga. irq-ersr dt Elr€a qr6a qrfr- qts|(sr

I,qr€

'
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(3) rrfid 3Tfuq{d '

*gr. snF, cr€t qit ffi Esla ffid ane grrar lr<ia fuo

fr-dl

'6S rryr+ffi .r6rdgrqr tr<ia asfn 6TL

gfi l. rrrdcr +fafeqr srqft qreTsrt Td ot t

1r1 arr*ffi fdq, itrd gtrrflrqri :tqrq

(rT) .. . . . . . . . . .  (T) .. . . . . . .-. . . . . . . . . . . .-

(?) utrq qdq frd{d furra q* +,,rr -

(q) Fr rirtr t:ra, EItr$...--....

1r1 *erra tsa,

(3TD qqiar snrrq ira.

(5) TIfufi srtn aF{

1f1 Fdrn TFrq {rit[fr,

19 'ft{ qmaTt $tr*. qr'rdr,qr rrqiqr +ro.rQt -

GD tlf€ 5rfff 41g1 ri-cr...'....

(3Tr) araiqI 3rsrqcw dtre* qlsrfiL

(O $rt,srf,I sr* clq 6td.

(il tTr€ 3Tfu+, tT+, ffie

fE qr+er $tr+. qraGTr *,rrs'lq frq qr+ar I

ilrr rnff trrn$ rrteTr tt1.lt

qqfiur Eqrg;a flrTI I rqri qrar lrrul' qlfrfrr I

(8)

(c)

(a)

(?)

f.
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TdirrrEr 416 flF{t lltll

qq ild sfr qrtur I

ro aim znnrcn frd t

Fdrrfr ffir qTsr I

sv izr** ttrtl

gr ftircrar sdRI I

aetl'"rsr arJt TRr I
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ffir JaFrr ?ga t

srqqr g1fi5gr il{rw I
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rfa atfi qarEd ttclt

(3).ry'
s{-,trgt Szil srsrlM gd 6Fr arra t ffgt'

gS u. srdrfi 3dr'qrar 3TFrt qT 
"eTsK 1d mrr :

(30 (r) (nrr qFFrtr rat fuo :

(q fln+rrrar cfuTnrrfiS 6r{' ff6r'

(0 a"rrr*arn r*fi fu6r'

(u)

(q)

(r)

(r)

flIFfirr ilqr cfdrrRqfie ry 
trdf,d Ertrdr$ a fiffiet izr

Td- F elttIF{I fr ffi,srllEr'Tieff,o rid'ararawr {flrfi Effiin

Tr6r{q ddt. qI Ft rdfiiar ffifi qirrsrma'i 6qrFr slfrFld scid{

I
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dftEu5fr m{a rrr*16r zrcarEr cTrrr 6{d- *'{a qr 1p uafam

qqrda gr$ t€srdrd-

itrrFFffir q?l;tr, rrcia, cniqr gd, w:rrat@, Eltiltlirgr gFqr4fi

dqrfra Eg{rrcq 35r4:til ctkrltT. a{a a;,rrrairda q.c.aia Eq'*ai]pr ffi

erri. qr s6fl6{srr{d 6ffi ebp'ft sFfi'Rlin {-4. t:fi'rlrrr ry

F{rdE !ffiffi GFrS Gne. a.elrfiRrail }Fild a,,{qr qtizrri ftatsr

E1refrr tIIirRrrI qgfiirnfd +d|qarqr{rr6r orra fist N ovrrcrn sqtsra

3rse.

cnfu{ur 6T o-tqr Equt qr*'gTre. cr{trfltrqil 6,'tqr srertr ge

ge arcr rrd. arrrr<;rt ate.r6-qT crdrfr {fi, Td,:a:'fr, rrrqan, frql-{, ?6FraT,

daErr,;nerseA,;nqrA ViFrrfiqr R"urr{dr 3n arrdfr er;asq

sfrqr Frqg 6:tcr 3rsdt. zrT er;qtst cffidrrn* 3r$ rEurdlcT. q**d{

crdiar srtrfldg qrwirqrd ffi vri,6opr aITfiifr Frr rrniefr.

il{*o' sFrft Ene. S qri arrmrrrfi 'R'Bffi :rse.

(r) a'rrrarr E{ffi* trd6sEr 9frrTr irqK iFTef 3rsdFIT k{rua td (s)

3rstrS trr*" frfl.

(:rD Erdeffir 6ffi& r1o, 1-fr ri|r{r : (c)

Tirfi #rd{ ffiqil,:nrr rS Etsi a-tlur srtqr fAuranr<a gr+

Ffirr REr.
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,dttra'fqr arfuihd sfircfu qmr rr<ia tqrcr
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ad q. qtrq rqtq fr+sr :

sr"i4rdr rrrt€IT Sc}w qFFnttIRttIT 3T{'srda $4tqrqq.d

silqrr tu6r. (E)Cq)

t. glriErt{r Tc,q

?. Fs srq 6ttf

g. sFiqrcrqn qr arm

B. Erfi',;Ffii4

{. ,g1;iqITIf qRTrT fru}W 1IFFI5I=IRIE11 1II?FIGI =iq-qtrr A1T. 
' 

Co')



TER TnLDcMRTHS THu z*toL+ loo -soo 5 o,

M.L. DAHANUKAR COLLEGE OF COfViMERCE

S.Y.J.C. TERMTNAL EXAM :2024 - 2O2s

MATHEMATICS AND STATISTICS

DATE:241LO12024

TIME: 1:00 PM - 2:30 pM

Note:

MARKS.50

t. use of logarithmic tables is allowed. use of calculator is not allowed.
2. For LPP graph paper is not necessary. only rough sketch of graph is expected.

Q'1'A) Select and write the most appropriate answer from the given alternative for
each question. (1 Mark each)[s]

1) Insurance companies ccllect a fixed amount from their customers at a fixed
interval of t ime. This amount is cal led

:. , ,  
a) EMI b) Instal lment c) Contr ibut ion d) premium

2) Which of the following is not a statement ?

alSmoking is injur ious to health.

bl 2+2 = 4.

c) 2 is the only even prime number.

d) Come here.

3)There are _ types of regression equation.

a'14 b')Z c) 3 d) 1

4) rranspo '" *[:n l] , '_.

') [3 :] o) [3 :)
, .) [; 31 il[: 3]
.  5) The Sum due is also cal led as _ .

a) Face value b) present value



c) Cash value d) True discount.

B) State whether the following statement are true or false. (1 Marks each)[4]

1) Truth value of 2+3 < 6 is F.

2) Cyclical variation can occur several time in a year.

3) The value of determinant of identity matrix is i.

a) The bankers discount is also called as commercial discount.

c) Fi l l  in the fol lowing blanks: (1 Marks each)[a]

1) lf payments of an annuity fall due at the beginning of every period, the series is
cal led

2l lf y = xtogx 16"n 4 =

3) The slope of tangent at any point (a, b) is cal led as . . . . . . . . . . . . . .  .
' :  

4 l  bxy .byx  :

Q.2.n; Attempt any seven of the following questions. (3 Marks each)[21]

t )  r tndf f  
- , i f  

x  = a. tT,  !  = Zat.

2) calculate the regression equation of y on X from the following data:

3) Prepare truth table for the following statement patterns: p --) (-p v ql.

4) An agent charges tTYo commission on the sales. What does he earn if the total
sale amounts to Rs. 48,000? What does the seller get?

5)  F ind the va lues of  r ,  such that / ( r )  -Zx3 -LSxz *36x *  1  is  increas ing
function.

i, 6) A property worth Rs.4,00,000 is insured with three companies A, B and C. The
. amounts insured with these companies are Rs.1,60,000, Rs.1,00,000 and

Rs.1,40,000.respectively. Find the amount recoverable from each company in the
event of a loss to the extent of Rs.9,000.

X 10 72 13 77 18
Y 5 6 7 9 13



7) Find the inverse or ilre 
[, 

', 
] rr,rix by the transformation method.

8)The fol lowing data gives the production of bleaching powder ( in '000 tonnes) for
the years t962to 1972.

Obtain trend values for the above Orta u
Plot the originalt ime series and trend values obtained above on the same
graph.

9) Find the amount accumulated after 2 years, if a sum of Rs. 24,o1o is invested
e_verysix monthsat12% p.a. compsunded half  yearly.[Given: (1.06)4 - L.26zs1

10) Find K, if A = 
l], i] ,t a singutar matrix.

B) Attempt any Four of the following questions: (4 Marks each)[15J

1)  Wi thoutus ingt ru thtab le,  showthat :  p  e+ q = (p  nq)v  ( -  pA-  q) .

2) Two sample from bivariate populations have 15 observation each. The sample
means of X and Y are 25 and 18 respectively. The corresponding sum of square of
deviations from respective means are 135 and 150. The sum of prcduct of
deviations from respective means is 123. Obtain the regression equation of X on y.

3) The foflowing table gives the production of steel (in mill ions of tonnes) for years
L976 to 1985.

Obtain the trend values for the following data using 3 - yearly moving averages.
4) Determine the maximum and minimum value of f(xl :2xs - Zlxz * 36x _ ZA

( i )
( i i )

Year 1962 1963 L964 1965 L966
Production 0 U L t 4

Year 1967 1968 1969 1970 197r L972
Production 2 4 9 7 10 8

Production



t !

5) A bill of Rs.51,000 was drawn on L8th February 1OLA for 9 months. lt was
encashed on 28thjune 2010 atS%p.a. Calculate the banker's gain and true discount.

6) Find f f  , '*  !  :  ex* .

*  * * * *  * *  *  * *  * * *
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Q1.A. Answer in one sentence.

1. What is Argo tourism?
2. What is Debit card?
3. What is differential wage rate?
4. What is Government warehouse?
5. Who is entrepreneur?

Q1'B' write a word or a term or a phrase which can substitute each of the following statements. (5)

1' A person who shows the correct path as well as guides employees in solving the problem.
2' These warehouses are owned, managed and controlled by central and state government or

public authorit ies.
3' A ministry who looks after development of surface transport throughout country.
4' A technique of observing and recording the time required by an employee to complete a given

task.
5. The function of creating something new for an economic activitv.

Q1.C. Select the correct option and rewrite the sentences.

1. Door to door service is provided by --*- transF,ort.

a. Railway b. Road c. Air

2.-_- creates t ime uti l i ty.

a. warehouse b. transport . .  aor*unication

3. Principle of _--.-- is not applicable to r i fe insurance.

a. insurable interest b. utmost good faith c. indenrnity

4.The function of management end with

a. directing b. staff ing c. control l ing

Q2. Explain the fol lowing terms/concepts. (Any 2)

1. Motion study

2. Warehousing

3.  Communicat ion

4. lntrapreneur

(s)

(4)

{4)
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Q3. Distinguish between the foltowing. {Any 2} 
(8}

1. Planning and Control l ing
2. Road transport and Air transport
3. E-business and Tradit ional business

Q4. Answer in brief. {Any 2)

1. Explain the principles of lnsurance.
2' Exprain any four principres of management of Henry Fayot.
3. Describe any four points of importance of Staffing

Q5. Justify the fol lowing statements. (Any 2)

1. Principle of management are f lexible in nature.

2. An entrepreneur must be an innovative.

- 3' organizing faci l i tate administration as well as operation of the organization.

Q5. Answer the fol lowing. (Any L)
(8)

1. what is outsourcing? Exprain advantage and disadvantage of outsourcing.7. Define Bank. Explain different types of banks.

(8)

{8)

T
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QlA)Answer' inone sentence. , (05)

1. What is corporate finance?

2. What are cumulative preference shares?

3. When can a company forfeit shares?

4. Whom does the company appoint to protect the interest of debenture holders?

5. When does a company create charge on its tangible assets?

al B) Write a word or a term or a phrase which can substitute each of the (05)

following statements:

1. Agreement between the company and deposit trustee.

2. Period within which secured debentures should be redeemed.

3. Capital that wil l  be collected only at the t ime of winding up of the company.
' 4. The value of share which is written on the share certificate.

5. The boom and recession cycle in the economy.

Q1 C) Select the correct option and rewrite the sentences: (04)

L. refers to the excess of current assets over current liabilities.
(working capital, paid-up capital, subscribed capital)

2. Retained earning are source of financing.

. (internal, externa l, additional)

is offered to existing equity shareholders.

(lPO, ESOS, Right issue)

4. Procedure for al lotment of debenture should be completed within from the

date of receipt of application.
(5 months, 3 months, 60 days)

Q2 Explain the following concepts: (04)

1. lnvestment decision

2. Overdraft

3. Right issue

4' secured dePosit 

pJ.o

( ' )

3 .

t-
a

r t *
r i

I 5

,
a t



Q3 Distinguish between: (Any 2) (08)

1. Fixed pricq issue method and Book building method

2. Equity shares and Preference shares

3. Fixed capitaland Working capital

Q4 Answer in brief: (Any 2) (08)

L. Write a letter to the shareholder regarding issue of bonus shares.

2. Draft a letterto debenture holder informing him about redemption of debentures

3. Explain Employee Stock Option Scheme?

Q5 Justify the following statement: (Any 2) '1108)

, - - . , - : -  L . . - : - - - -  - ^ - - - - ^ - . L .  '  . :1. Fixed capitalstays in business permanently.

2. Debenture trustees is appointed by a company issuing debentures.

3. Retained earning is simple and cheapest method of raising finance.

Q6 Answer the following: (Any 1) (08)

L. What is preference share? Explain its types?

2. Explain the classification of share capital?

&4
I
lt
a.

t '
' l i
-J t
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MuDc TeRsysc sAo.{-s 2s\" 2-* l 'n-Lr}o EYi'

MLDC/SYJC Fdq?T: - Tiqq erqr:- 50.'

E{rr: fui;rr1: - grrq S'Wtrtt (04)
A  \ '  (q.1) st') ffi' er{ftrcrot

q. 1) grD qrqErP{+TIq -T{srtn: qrqntrd.rsF"rdtiqftrcqdl (5 d:4)

Bfiiqt R+rm: - rrgq | (14)

q.2 ) 3[) rrqHqBdlfrffei' $fr: $\0i1
rflq{ qrq rTrr{SE--{rq qf,iEit"h effi'q r q&Edq er+o*S ord, er& g tnAq orfrsfr wrsRn
qf, sddg€qT: rfrrTrmBrn: r ffig, irguElT futrd-'Trem-dv{-qTRg €Wa-qrfrfirdg aqr
q|Rfuiq- EERiRdrRg qnRq-;q.g q-$sFtcFrlT EDfdr I d\GqlEt emmffig rl"lqfr
TsrlL{Hr o6d: v{rrf: qrtlra I IF-rd+ ordsfr fusqfflq o{rdq{ l|qH s qqT Gflqqqq,*qpn'
('Lady of the Land') TRfrflffr ('Beauty of the town') ftHRfdg ffitll' TgTsHq{: GFI[: tr{tle

I dqr u*ffiig erR qrdqrH q-sq-asnr+rH qrwrR r Gr}a gg flqa uq Grffia ttrEfr q

a6d ftq:,ffi gs\T:'qfi qrTr€fffiflqi frWn, I ir<{ fqBEnsru+srtrss qffi qm*i
r.mftqr, Sllcffi: I qr: qf,qpfiTr: gBftf,l:, f,rsB+f,r: [ttTtf{trEl' frffEti I qfr, frdwi, }rtrgw,
ul@q5r, qftfti r;+rgR" e{f,f,'wq{srfrH rflemfic.mt: frsqr e{ETH eR t

rlendr+q | (3)
1 ) sFki trf{ui fdr qT-{i ffi t

qlq: qdcnl: rNIIUie-dR, qil: ......... I .
q nddgFEI: rriltrqfr+r: erD rtTIEi: EqTdfriqqrflat

2)sfui qrq Frdl rplui TrmT I
qrffi efl-gqq|qr qrf,r MsEf- t-l

3)trsrt|;rftr|qr: oft 3tE{F qRz
(3)z)qrqfl-{{ |

rl ;nqeni FSilq rgw qTfli g{ffisdt gcrer=r+-rd' fr fusqfrtq snd-d{ trdR rqlc.rQ
z)wTH{?mftrc*ar

1) ftgut: ..........2)ql*{fi-rd: - ................................

(2)



(4)

q. 2oil') qT$rqt{Nqlvs<{sfi$5-dl ( 2 d: 1)

rt frdq+swrBEr:qRl
2) TErl GrE-gsqql$rqs{uftqq t

Eftu:ftqm: -qqq | (e)

q.3 eD qqiqiqtrf,rfrHEr' F.lrI: gtsdl

fir-qrfffi{s Ertrfr '*fu[' sriRw trrd{ |
qRftl frq-avewftrufr qrBara fu-rrdt sfr t tq t t
sFR: RFrd erq qlFd: affi ffid qf,q{ |

- ffr-qr+rfitg EIFfr |{s{eiqq crsl qmsq I l? I I
'i*rr{q-{rf6T( qorffi s rlos fr Rr tq+\a: I
fu ,i n@cli frffi q-fl{r+r{ lltr ll
c+riqR 

-1ffi5f 
alfrRqfu{r{Tdl-Tiq t

" dfur' va*rnffr ftt{ q|r$RTswrq qqfu' |1v 11
(2)er*frrr+q I

1. Erfudqcrdlfr@+ifucifrq?
z. r* gtrR"t sEi qr .{qs fuso I *csro{fiTs ErF-fr qrFf,r rn{ii qrr{Rsq qRrdr t

qrffiFtql ^ 
(2)

,1.,ffiq' q;5]'34gq' TffrEI: *,q5q *qqAr q+;i ffi{ q 1ffit

z. qqiqrcT: ffi frrdr ftrtqdi TTIIR:-............................. I
o. r on ffirE t qqq$, S* erwnqTtq-qr{qqTv{f,rdfrrc{dtl (s)
Grqr trqh drd dS ftqdT qil'q5q-qdT
fr.fi qug or qffi Ht qff RftIqr EE t
ffi'rqmt
'e{nilffit:ffi:"11
(qoTs' EEfr), 'dkr, Fcqfr (oftT:) ..........:....EqfrEqwuqffilql EET: EEFO, "fr91
...........'....'., qq dU fut Rrolql' ( rlf,flIl: ) ET rlfr : 4d !" (tK[)
q-r1-dq, ' g$f$; , qf,ft: sfS;, clglfift:, tlTftl$: I "
qg{: R+rmt - r{ffiu11-g: (9)

q.+) erdfiffiEr: $d{:gfrf,l
eO ;nq-Tffif,i T{Td I (B d: 6)

(4)

(3)

t*
:
1 *
r  ' i

^ - l ?



4 rT:3 (3)
srrtTlgfiq-q: qsrslilTd: TTTTRFIH

sRlrI: TStI:
qfrfrfrffiq q$l Tqsq:
qfdzrn{: ql.f+q efe+:
r{€tld: tsqq-{-df,rs.q'

I (4d: 3 (3o {d{|:NR g€-d
f . ilg{r T frd: rntrcF-: I 1 or*uffiaqgtsdt)
2. qrsff ftEtn E-{fr q | ( Tfsmdr=rcit dqcra U
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